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SRAM — Remote
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S60 2> 1 S
Sat no
PCn > SAT MASK
Array 96 x 8
96 B.
$C0 > Dig. Alarm -
4B bits
= Good State
SC4 >
NUMI Permit Mask 7
12 B
$D0 > : bit = 1
MI Permit Mask if not dependent on state
12 B —
bit=0
°DC> NUMI Present Mask if dependent on state
128
SE8 > Eval Array = Result of evaluation
12 B of SAT MSK + other bits
=1, test channel
$F4 > = 0, skip
»100 > Analog Limits
64 Channel x 4 = 256 B.
$200 =
Abort Data
$240 >
STACK
$255 >




SRAM Main

(after download)

»060 = Sat Tables

Moved Here 128 B

$OE0 > Sat State Table
32B

»100 = Storage for trip Values

64 Analog Ch.
128 B

$180 >
Storage for read all values

(analog)

128 B
$200 >

Read of Dig. Values
4B

Up to 16 Trip PCn’s
16 B

4 Timers
8B

$25F9 T STACK




SPI Dialogue
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Ctrl SAT #
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{ TC. ‘ 0000 | 0101 ‘ SDOWI’\'OBC'
05
+ Data
Drop ‘ 0000 | 0100 ‘ Permit
S04 (DrpPrm)
Restore ‘ 0000 | 0110 ‘ Permit
$06 (RStrPrm)
< S
Download ‘0000 |0001 ‘
Ack

{ \xxxx |oo1o \ Abrt Rpt

+ Dat;\ # Channels fail (up to 16)



Typical SAT State Table

Escape EVT bit 7 = 0 Escape Evt = TCLK
4B | [x] | | |«Jo =1 Escape Evt = BS
State EVT bit 6 = 0 State Evt = TCLK
Ix[x|x[x] | [o =1 State Evt = BS
v bit 0-2 -- Current State
1=Timer on Timer#0-3 bit 3 — Trigger bit
7 —No Timer bit4-= 1$k|p Thl




